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Gryh 2; wewar | | Gorgs LEOGILgn ST : 7D
Time Allowed : 2 ; Hours | [ Maximum Marks : 75
oflay ¢ spmadg  ellamssEnid sflurs  eal  udeurdl o etensm  eTETLGEMET

Instruction :

aflurf&sas Glamemenajo. SEsLudlald @empulim et eI
samaraiureri_b 2 Lanqurss Cafalssen.

Check the question paper for fairness of printing. If there is any lack of |
fairness, inform the Hall Supervisor immediately.

@il | Note : Geualleormdsmet apern Olflasemend Glamedrgi.

@l :

Note :

This question paper contains three Sections.
difley - I/ SECTION - I
(wEliQuanser: 16) / ( Marks : 15 )
) @odflele o ser 15 allenméaEn e aflemL well&aeyb.
i) oELiys @hllaer Qar@asiulfeien Breg wTDOI allemL_ gl
Blaan sflurer ellsoLows CarbolabiEs & wpsab.
i) Answer all the 15 questions.

ii) Choose the correct answer from the four alternatives given in the
brackets. 15x1=15

1. Qubmss Csia Gariuream Gleuefludl ot

( amireveny Lmiedlesr, afiyGam-e-curdlay, Sifleat Gmmae Glierorieu, st Lmlen. e
GUTLDMTTS )

Theory of Natural Selection was proposed by ...................

( Charles Darwin, Hugo de Vries, Gregor Johann Mendel, Jean Baptiste Lamarck )

| #limlys [ Turn over
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2.

led sGawure wBaflurs sridsme o HBardenh Smd) ..

( JerrevGomguid gCouGev, SenrevGomguid weflur, Sarmev@omguwib ey,
SlemiraivGomg wib eveveuTseay )

The most serious form of malaria is caused by .............cco0oen .

( Plasmodium ovale, Plasmodium malarine, Plasmodium fafﬁiparum. Plasmodium
vivax ) :

Wb sraumseie urdlaiCuras panlle pepL GUnID (s Blepay

( BHanIB, (Wenerhse, et (b 2 (heurse, barhs Corsama )

In sexual rﬂprﬁduction of flowering plants, the first event involved in this is
( Fertilization, Germination, Regeneration, Pollination )

cuanitélens WIHDSSTE & el @b siflamaear QeusfllGuppis flapsd)

( BLBEIE6, sifla] BEaD, Heursb, G j@arsgh )

The process in which metabolic wastes are removed i8 ........cooceennnn. .

( Cnn'c;uction. Excretion, Respiration, all of these. )

HBULS susD aaTpapssUufeug

( @any Gy ariugtser, sil, QuCrreub, Fst )
What is called as black gold ?
( Hydrocarbons, Coal, Petroleum. Ether )
v GO ST SHeiTERIDIG,
( 1T, 2 cioTenib&&ene ey, salplob, GlEThs6 )
: .. i1s opaque in nature.
{ Water, True solution, Colloids, Suspension )
Zn + 2HCl —.ZnCl, + H, { :
Blhs aNeneDT ..cvcirrrnnen.. UEDE QDTS ETTHSS -
( o fema alleen, @rlen GLUuGuwtéd allemer. GLiGLLTES alener, Hangeaynpsen
allement ) : ' .
Zn + 2HCl — 251‘1(2121 + HET
The above reaction is an example of ..............0000 :

{ Combination reaction, Double displaccfnc_nt reaction, Displacement reaction,
Decomposition reaction ) ;

peden yaiihae L cuenestnlles 2 eer GlarLiaeflan aeabams
(7,17,8,18)

Number ni’ periods in modern periodic table is .................... .

E7 7850189
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10.

11,

12,

13.

14.

15.

3 1130(N)

SiauBlafusEles BTG .o GO,

(. Capwml_L, CusmeaLL, urdaoel, Sy’ )
The ore of Aluminium s ...

( Haemetite, Magnetite, Bauxite, Siderite ) !
o6Ceaseflar GQurg emiiur@ : C Hy o Eelardiunige (o
smaunl_Crmamiuellar peudhsmn eumbiur( ;

(CH,, C,H,, C,H,, C,H, )

Alkanes have the general formula C_H 5 - The molecular formula of the first

2+
hydrocarben is ... :

( CHy, CoHy, CoHg, CoH, )

2 0fl Gamflému gl m@gbgga;mm&, @aflré  Glawyd  @eflfl  Cemplapiu
SUGOLILY EHHBE «oeveeriierrreren BHEMEILITGHID. :

( aufeblwd, enml raned, ioGurefur, @Genmfle )

The freezing of biotechnology products like vaccines recquires ...
freezing system. :

{ Helium, Nitrogen, Ammonia, Chlorine ) .
20 b blergenLwefer sbllflés 02 A BaGeariih 2 (paursésd Gaamsuluiin
Pemempds Coupur@

@hliy : V=IR

(100V, 4V, 001V, 40V )

The potential difference required to pass a current 0-2 A in a wire of resistance
A U 01810 16 R e e ; :

Note : V = IR

(100V,4V,0:01V, 40 V)

SDEL AT BOIE .o

(VoA G 1)

The symbol of Ammeter is .................... .

EA L el |

Lﬂmmnmmmm ST SLDDETE THID FTHID . ovorisieivnnes
( Blesredlupd), Blesr Guom v, lesnordl, Slpe suphidl )

A device which converts electrical energy into mechanical energy is .................. .

_{ Generator, Motor, Transformer, Power supply )

10 Qs @alu srpwsier @alCeadldimps 25 Ged Ggraaals GuTEe
aneusariuGaing. Ybugdle Careneesy .. chrvat
(60 G515, 16:66 Gla .f, 6:66 e .f, 10:‘51&@1

An obje-:t is pla::f:r:l 95 cm from a convex lens whose focal length is 10 cm. The
image distance is . e

( 50 cm, 16:66 cm, 6-:66 cm, 10 cm )

[ sty  Turn over
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Giliy :

Note :

16. &8y Glar@sslul (erer ehpbsmanen Ligseab :

dlfley - II'/ SECTION - II
(wFlGuetmser : 40 ) / ( Marks : 40 )

glmand Bmug alarmédsEhde el wallssab.
Answer any lwenly questions.

20 x 2 =40

=) 2L pblsaseaia ghufd nrpurfsst RS SOaMDEHE HL HSHLIL[H S eTmeo.

2,) uemy erraullser &CrrGurGarbaerma bifemmilsaiufdldarpen.

@&hgb@&sﬁ gflwr 2 geupriles sflurer snbenn erapseab.

Consider the following statements :

a) Somatic variation pertains to body cells and it is inherited.

b) The genotype of a character is influenced by factors called chromosomes.

Do you agree with the above statements ? If not, give correct statements.

17. eeuLifletaeaeryd et Gaopurl () Crriseaenyb GlUmboHss

J €L 6T Ut emeaul L 1Bl ebr ®opur’ @ Cpmi
i) emeul Lifletr A dua el
i) et By Nésiev
i) emeul_LibleiT C Bl&GLrGeurSlwr
iv) eneul_Liblett D Q-G

Match the full::awing vitamins with deficiency di

SEASES !

5. No. Vitamin Deficiency disease
i) Vitamin A Scurvy
ii) Vitamin B, - Rickets
iii) Vitamin C Nyctalopia
iv) Vitamin D Beri-beri.
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18.

19,

20.

5} 1130(N)
euen LU Reften weotlg apememilledr LLD cuemnha A, B uTshsasrs :g;‘rf)]
A) msise 2 amHd Ugd

B) umiemeu 2_emimin LGH .

Copy the diagram of human brain and label the parts A, B :
A)  Seat of smell

B) Seat of vision.

FhémauL eursdluisomensd seouel :

b (A)  : Otyed spud premflée Gweler  pLEGT  aen
2| p&sULEEIDS.

sryemid (R] : He premblever spilleensr Gyl &ri subeu@ssdns.

&G eOuIL Geter @Bl g6 sflurer alle omws CaibsE@ :

A) (A) sflurengy (R) sflurs QumEhsealldene

B)  (A) eflureng), Syenmey (R) geupreorg

C) (A geup, syeme (R) sflumesg)

D) (A) whmb (R) @rem@Gu sflurarg.

Consider the following statements :

Assertion (A) : Pituitary gland is called as the conductor of endecrine orchestra.

Reason (R) : Some of the endocrine glands are regulated by the pituitary
gland.

Now select your answer according to the coding scheme given below :
A) (A} is correct and (R) is not giving correct reasoning

B) (A} is correct, but (R) is wrong

C) (A) is wrong, but (R) is correct

D) _  Both (A) and (R) are correct.

Gumepenemilest UestTlger Wreneal 7

What are the functions of cerebrum ?

[ &liriius { Turn over
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22,

23,

24.

cuenTWiLL Beter Qné alemaler @Y UTaRnmens @HnS@s :

2 L eblett ‘wrevL it Glablenl ® eremy aﬂ@ﬁga&m S phaliLfdng. earrgmm Fal).
‘Master chemists’ of our body are kidneys. Give reasons,

Gamgl L @_kgeen HiTlys

&) 2 cuont Seme Crmorset STaoTULED aNe0BE oo

2,) Wt SHSHGET .......oceenv..e. LISV DTHILTE S ED.
Fill in the blanks :

a) Sensitive whiskerﬂ' E A e b b g by e MO L e ;

b) The tusks of elephants are modified . o

Car@ssiul_@eren  Sndresdler e Gleul_@gﬁ G@Wﬁ}{gg@ﬁm LD cuenrha)
Fphacio. UTams@ans Ghlhaab :

<) Cu@easf Syde

<) St Bremb.

Draw the given diagram of L.5. of kidney and label the following parts :
a) Medullary pyramid.
b) Ureter. .
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25,

S

i

28.

7 _ 1130(N)
SFTEHED] FHEnTa e ,_%éaagmrr@in?a W Hmw e &g
=) (Emr;r;é,:a:‘a'ﬂ_ sapiblds assmaw Hlapéd paol CupSng 7
o) ahs pengdfl sGuiding 2
Sugar is converted into alcohol.
a) From the above statement what kind of process takes place ?
b). Which micro-organism is involved ?
Fpsoein 2 e sudlalenu Lg g sl Clels, Sgmear b d‘mﬁﬁ_n&, OTHmIS
weGufl — @meal — sbueaflliyéd — LEHE.
Study the food chain below. Correct it and convert into a pyramid of energy.
Mulberry — Sparrow — Caterpillar — Kite.
QUTBHSTS aTaD SeiTLdluab :
<) 20f sesanrd, uéms wae, 2 1l eI, @ur_‘_(E[rrra'.ﬂmE
2)) &TerT, el dsuri@, Qerml Sy, FaGudl.
Find out the odd one :
a) Bio-alcohol, green diesel, bio-ethers, petroleum
b) L;ihniera. typhoid, scabies, dysentery.
FpémEe euTSSILGEeTs meued :
sabm (A . gran acnGewnl whnn elemgseia Qeruwiiledlpheg o Wifl-eed
GluptiuGEns.
sryeon (R : @la e 0f eflergmud admnb s@pssiuBeing.
ECyp el @eiar @Huiige eflurer aleLmup Caibblad :
A (A) bppib (R) GG o '

B) (A sfl, geme (R) seupteng)

C) (A el whpo (R) Qurmhbadlns

D) (A seup), ermes (R) sfluren sappi.

Consider the following statements :

Assertion {A) : Bio-diesel is made from vegetable oil and animal fats.
Reason (R) : It is also called as bio-ethanol.

Now select ynur.answer according to the coding scheme given below :
A Both (A) and (R} are correct

B}_ (A) is correct, bul (R] is wrong

=) fA) is correct and (R} is relevant

D) (A} is wrong, but (R} is correct.

[ Hmiiye / Turn over
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29.

30.

31.

32,

33.

8

al @4 sflaydi spbhflllarmd ghu@D BeTawseT WTaea ?

What are the benefits of household waste water recycling systems ?

sigaayeny bl sHaorss Csallgu sagsome 2 Gaursdlu Ve GuhGaned@

FTEHENT U HeHs (LPQULT ? HID ecneatiHass H(He.

You have prepared a saturated solution of sugar. Is it possible to dissolve some

more grams of sugar to this solution ? Justify your stand.

10 &l &rrgzarrl;r;emr 2 (emu 40 &l Biflés seagsdlEn Curg 2 meuren senyaa Gladlalen
Bleon &&aisdHaes &ansHdl (s .

Take 10 ¢ of common salt and dissolve it in 40 g of water. Find the concentration

of solution in terms of weight per cent.

GlerEésiu L oL euameatreny yTihg GamglL @)L ksener BiTlLs :

sumy 2|emiiblen C pessmp Blop | @mibsl G e
gpGameit 16 48 —
NIH LT 80 65T 14 — 2
Analyse the table and fill in the blanks :
Gas Atomic mass Molecular mass Atomicity
Ozone 16 48 —_—
. Nitrogen 14 —_ 2
&G Oerpasiu’ Gerer  sallnCGapp oOEs SSeverésre €11 60TIT &6 65 T 645

allenL_well&eeyb :
CuO + H2 —- Cu + HZO

<) CuO, Cu 946 LTHID BB oveeeerrerenanns
<) H,, H,O 816 wrph G1&0a] e,

Kead the redox reaction given below and answer the guestions :

CuO + H2 — Cu + I—12()

2| GID.
A 3G,

al Convérsion of CuOD into Cu is called ..........iviiieis :

k) Conversion of I—I2 into HED e o B Pl S et R L M
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- 34.

35

36.

9 . 1130
meoie Qaflbs e Qurplseallar pH wfliy £Cp Car@esiul Qererg. Seubllenea
Sy rTihE ellawellsaeab

@I (@ i pPH wéliy
i) wells Gresh - 74
i) sewwe Garim : 8:2
i) alleflar 25
vl all@ 2 uCurs @bGwreilur 12

=) Gubseo GummL seilé aenal Siblebmeaenin Glameio_smeu 7
=) Quhses. QumEpl seilé aeaney snydsaann Glamedn e 2

The pH values of certain substances are given below :

Substance pH value
i) Human Elnc_:-d 74 b
ii} Baking soda 8-2
iii) Vinegar _ 25
iv)] Household Ammonia 12

Analyse the data in the above table and answer the following questions :
a) Which of the substances are acidic in nature ?
b)  Which of the substances are basic in nature ?

@by  oemll  meilliglug  erae  eughfle BLs@LT 2 e udlgbaren
SN SEESH Salll.

Can rusting of iron nail occur in distilled water ? Justify your answer.

X erebip Gleustrell Gumeitm Gleusdoemio ﬁt,r_r}‘ 2 Gemal ousedlmea et CGsiha Y @&
smflng. @Cs Y eeip Gafuowrearg X prreily s alameyflyb Gurg emaml et
suryemen Cleuafll (@ Hlep &fng. X whHmubd Y smé seior@illy.

X is a silvery white metal. X reacts with oxygen to form Y. The same cnmpou-nd X

is obtained from the metal X on reaction with steam, with the liberation of
hydrogen gas. Identify X and Y.

[ dlpliys / Turn over
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37. Glunkias :‘
Gairwhisef allmerd Claws Clares |
24,606 QDT e =0
<3| Gulg emaun (f) — OH
afl%'fEf_rrair: . — COOH
srruréertledld spbleun — CHO

Match the following :

Compounds ' Functional Groups

Alcohol SC=0
Aldehyde — OQH
Ketone _— CDﬁI-f
Carboxylic acid I — CHO

38. ULgems 2 Cprsdl el erapsanb ¢

! { bt

=) Agyrs B gyrélen 55 Qeeyssind eNes ..., a1 eot UL RID.

<) B gyre A gyrdle by Qleaussin alens ... SIOLED.
Observe the figure and write the answer :

B A e

a) The force which balance A exerts on balance B is called U et

b}  The force of balance B on balance A is called .............

39. F=Gmm, 1d? edtug By eflar sridlud allgfler sefls eugeub. Bl e
rrCdlue aldldlene auntsamsssila aupsa.
F=Gmm, | % is the mathematical form of Newton's law of gravitation, Then give

the statement of Newton's law of gravitation.
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40.

41

42,

11 - 1130(N)

Geurevnm Blesrmenn £C1p syuu Retenal. a. b, ¢, d srenrd @PILOLLL UTsksamers
@bl&EmaD.

ClUT(HSSIS :

Caeen | gyflelue sufleni s oo Huilig Oy
i enl&Gac urgGL (p@eu e ameud
ii) DITTEh em&Lneh ﬁfn sdlflussb .
iii) Geumeom eoLar B
iv) Gane GusGlsya gplD Eﬁ]é]

Match the following :

S.No. Scientist Invention
i) Michael Faraday First battery
ii) George Simon Ohm Radic-activity
iii) Volta . Dynamo
iv) Henry Becquerel Ohm's law

aror [ y ) sdliaer Eubens aaa;“:,]r'r-lu.ré,sag.. ganimarTe CleetlalLU@D Syugsmen
s&lITalsam@Eh : ;

=) Bubms sdliflusss saluhsea Gaaflal@nd Coun adlifaiésaea LTemea ?

=) yamé sdialidldar seTabaTan S ereaT 7

y-rays are harmful radiations emitted by natural radioactive substances.

al Which are other radiations emitted from such substances ? ;

b} What is the unit of nuclear radiation ?

| #lgpliys / Turn over
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43.

44.

45.

desreumpn adli euamyul b @flumgdlés Sioub Carenmmamss @heen :
2)) sglayenen Seusond sao® sflurear sli cuamrUL D el TwaD.

<) e gpsspdhera aletdad syab.

The ray diagram shown below is introduced to show how a concave mirror forms

an image of an object :
a) Identify the mistake and draw the correct ray diagram.

b)  Write the justifications for your corrections.

a6 GPCadadlda galugryb 2 15 aailé Gladrdldar dpdr srens. ( @iy : P=— ).

| =

The focal length of a concave lens is 2 m. Calculate the power of the lens.
1 :

(Note: P=—)
J

QT BHSTS gpettenn evor HUllg&eayb :

<) uRGsreamin, eles Coreuid, Sat Caraniin, GauGsremilb.

2) @l 2y, Gl CQestia, snger sy, Gall Clavss.

Find oul.lhe odd one :

a) Angle of incidence. angle of .refraction, angle of emergence. right angle.

bl Convex mirror, concave lens, plane mirror. convex lens,
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46,

47,

48,

49,

13 ~ 1130(N)

Ulfley - III / SECTION - III
(wgliGuetoraei : 20 ) / ( Marks : 20 )
@fliy: 1) gatang ueddemhsin @ el aish prevg  alemhsens
allenL wafl&s b,
i) gpeuGleur ellamallbheb mbal m@u@rumam.
i) Caemeuwmenr @) Rsefla LD auemys.

Note : i) Answer any four questions by choosing one guestion from each
part.
ii) Each question carries five marks.
ili) Draw diagram wherever necessary. 45 =20

u@$ - I / PART - 1

=) wryd Gurdldlud edrprd aetear

<) oyl Gurildluelesr meTawaer u_rrrem&.a 2

a) What is Genetic engineering ?

b)  What are the uses of Genélic engineering ?

<) Gpmi sEoud apebd Crrise egroe 2Ll UTgsrésard. JDbs
BYPLOBHE WeHh Hm LrehsEhbGeT alpis Goucmgu Gpmig sELYS
DL eLemETTTemL eT{LYSIS .

) @ssbuy e qpab erhblshs Chrlsamens sHSHL Elwealb.

a) Vaccine is to prevent the body from diseases. Suggest the immunization
schedule for the baby in the first six months.

b}  What are all the diseases that can be prémnted as pef the schedule ?

UGS - I / PART - II :
sEapgeld alameraurs 2 (heuTeus s, sEADSSH peLCuprod gCsab e
2 meurdimsm 7
HellEsl euansLUUTL g6l iU L eueemens S(5HS.
Fruit is the product of fertﬂuatinn Is there any fruit formed without the act of
fertilization ?

Represent the classification of fruits in a diagrammatic sketch.

Uos, yoe ahig Crrédlaud Lme b ab. @EGpe 2L pasdbe ghps
eeums ghnd Glerardlprur 2 afl eflliugarréd ghuGn faow LusED Geudseanerl
UL ig wedl Hias .

Smoke, smoke, everywhere smoke. Do you agree this situation is good for
health ? List out the harmful effects of coal burning,

[ #imliys / Turn over
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u@8#) - II1 / PART - III

50. &) wanlymeiler sembleon 1 6. sisalloaile siiflan 16 £, aafla fifla
&l e Hleonaows saosbdlHs .

2] &6 geat upblu Ggefleurear alleTéssams 2ellbsnd g Halo 205
Qlareiansuras mad Qaraems, Haoalldaar Garlur( whpbh shGurasw
s Ul LLsenenyd Careao @ 2 @eurarsm@h. Gsubbler fpeh peala 26
Garstensmuilen gGsenn apetimy Gamurfsaer aleauflas.

~a) Calculate the gram molecular mass of water from the values of gram atomic

mass of hydrogen and oxygen.
Gram atomic mass of hydrogen = 1 g
Gram atomic mass of oxygen = 16 g.

b] Modern atomic theory takes up the wave concepl, principle of uncertainty
and other latest discoveries to give a clear-cut picture about an atom. State

any three findings of modern atomic theory.
51. ) assamis subflab, ssseanmea e S H,50, (_L;}-s'srm’:_-lmmuﬁléa ellementfllpa.
3 e My @;i_lsﬁ'lsﬁ;muﬂl;éu 2 (heum@d &t eflemen Glummeilen Gluwi eresrer ?

ii) @mmﬂl—mmuﬁhﬁ G‘ELILLLI"I" erebIenr ?
i) GuBe 2 eien eflensonles H,SO, 61 Likig eredien 1

31) G siflné Geinsdle wassmp sumiour®@ CH,COOH.
)  @hs Cempsdler IUPAC Gluwr erabter 7
i) @&Carngdlen LT eedTm dnpl.

a) Ethanoic acid reacts with ethanol in the presence of concentrated H,50,.

i) Name the organic product formed.

L)

i} Give the name of the reaction.

iti) What is the role of H, S0, in the above reaction ?

b) The molecular formula of an organic compound is CH,COOH.

i)-  Write the IUPAC name of this compound.

i)  Give one use of this compound.
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L@ - IV / PART - IV

52. &) BlyllLaler wpsd Guss ol allmsdldar uamenn ellonda@dlng. @)&embenn
BTl E s .
<) 2 &4l Hlenpueiren Eﬁurr@sﬁlm_ S5 4 ms? wREssms ghufssd oo,
3 &4l mlanpulen tﬁ'g,} 2 ms? whHsssos ghufsan olos. Eennet s
Gluflug = ;
a) Newton's first law of motion gives a qualitative definition of force. Justify.
b}  Which would require a greater force for accelerating — a 2 kg of mass at
2 or a 3 kg of mass at 2 ms ™~ ?
53. =3 scueavldl G@pUTHST Wrene 7 Sens aeueurm &ifl Glelwern 7
3) UL Sangs saallias lerfasiul Gerer allambsensg aloLusiésab |
1 @uuch @iludifes s
i) @Esrganl ahssgcusdle oplusmLdley tlsudufdlipg 7

4 ms

|
a) What are the defects of eye ? How are these rectified ?
b)  Observe the figure and answer the following gquestions :
i) ~ What does the given diagram represent ?
i)y  Write the prlnmple of the device denoted in the given dmg{ram




